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QID : 1 - In the following question, select the related word pair from the given alternatives.

Badminton: Court::?:?

oo uy & fow e fowedt & & &l wsg g &1 gful

Options:
1) Skating : Rink
Wi : R

2) Chess : Ground

RS : A

3) Swimming : Grass

LRIl

4) Polo : Sky

Tral : SHIHTRT

Correct Answer: Skating : Rink

Candidate Answer: Skating : Rink
Wi : R

QID : 2 - In the following question, select the related word from the given alternatives.
Teacher : School : : Artist : ?
oo vy # faw e fowed! & @ Heia wsg &1 gl

e : foemey : : FaER 1 ?
Options:
1) Theatre

2) Cards

GIRY

3) Pen

DAH

4) Acting

g

Correct Answer: Theatre

Candidate Answer: Cards
GIRY

QID : 3 - In the following question, select the related word from the given alternatives.
Pentagon : Figure : : Truck : ?
oo vy # faw e fowed! & @ W& wsg &1 gl

TgYS : Pl ::gh: ?
Options:
1) Heavy

2) Vehicle

dargd

3) Engine

ESEl

4) Goods

A

Correct Answer: Vehicle
dared

Candidate Answer: Vehicle
dred
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QID : 4 - In the following question, select the related letters from the given alternatives.

RATS : XGZY : : RIPE : ?
fRfeed gy # fou e famedt # & Fefta 3ieri @1 ga

RATS : XGZY : : RIPE : ?
Options:

1) KVMA

2) XPUL

3) XOVK

4) XNVG

Correct Answer: XOVK

Candidate Answer: XOVK

QID : 5 - In the following question, select the related letters from the given alternatives.

FEAR : PCCH::VANS:?
foufafea vy & fow v fiwedt § ¥ Tt siert 3w & 9wl

FEAR : PCCH::VANS:?
Options:

1) QPYX

2) SHPX

3) PXYB

4) QSZA

Correct Answer: QPYX
Candidate Answer: QPYX

QID : 6 - In the following question, select the related letters from the given alternatives.

LAMP : PXQM : : COKE : ?

frafafed uy & fow 7 fawedt & ¥ defid sieri &t gfuy
LAMP : PXQM : : COKE : ?

Options:

1) GMQA

2) GLAT

3) GLOB

4) GNPC
Correct Answer: GLOB
Candidate Answer: GLOB

QID : 7 - In the following question, select the related number from the given alternatives.

43:7::61:?

frafafed vy # fou T fowed & @ Oefia g &1 g
43:7::61:?

Options:

1)6

2)7

3)9

4)8
Correct Answer: 7
Candidate Answer: 8

QID : 8 - In the following question, select the related number from the given alternatives.

24:164::32:7

fafoRad oy & iU U fowed & @ Hafda = & gl
24:164::32:?

Options:

1) 212

2) 194

3) 132

4) 186
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Candidate Answer: [ NOT ANSWERED ]

QID : 9 - In the following question, select the related number pair from the given alternatives.

73:21::?:? FRESHERS NOW

Options:
1)95:45

2)46: 28
3)37:18

4)19:10
Correct Answer: 95 : 45
Candidate Answer: [ NOT ANSWERED ]

QID : 10 - In the following question, select the odd word from the given alternatives.

frufafed vy & fou 7u fawed & ¥ faww wsg & gfuy
Options:

1) Forest

aq

2) Tiger

Elo)

3) Lion

4) Elephant

greft

Correct Answer: Forest
a9

Candidate Answer: Forest
a9

QID : 11 - In the following question, select the odd word from the given alternatives.

fafafad uy & fqu U fawed & 9 favm veg &1 gFul
Options:
1) School

2) Worker

AR

3) Driver
EINCS

4) Waiter
IR

Correct Answer: School

Candidate Answer: Worker

RSN

QID : 12 - In the following question, select the odd word from the given alternatives.

faffad oy & fiou e fawedl & 9 faww wrsg &t gFul
Options:

1) Write

ferg

2) Read
Ue-
3) Listen

g

4) Colour

1

Correct Answer: Colour
a1

Candidate Answer: Colour
R

QID : 13 - In the following question, select the odd letters from the given alternatives.

o vy # faw e fowed! & @ fawd ofart &1 ghu
Options:

1) CHM

2) JOS

3) SXC

4) VAF

Correct Answer: JOS
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Candidate Answer: JOS

QID : 14 - In the following question, select the odd letters from the given alternatives.

fafafad oy & U U fawedt & 9 fawm sieri & gul
Options:

1) KQW

2) BHN

3) RXF

4) DIP

Correct Answer: RXF

Candidate Answer: RXF

QID : 15 - In the following question, select the odd letters from the given alternatives.

i uy & fow e fawed & @ fawy siert 1 gful
Options:

1) FBX

2) PLH

3) VRN

4) GCZ

Correct Answer: GCZ

Candidate Answer: FBX

QID : 16 - In the following question, select the odd number from the given alternatives.

Fafafed vy # fau e fJeedl & ¥ favw e &1 giHuy
Options:

1) 17-289

2) 26-676

3) 27-729

4) 14-170

Correct Answer: 14-170

Candidate Answer: 14-170

QID : 17 - In the following question, select the odd number pair from the given alternatives.

frafafed uy # fau e fiwedl & ¥ faww W g &1 9wl
Options:

1) 13-16

2)19-22

3)21-24

4)33-38

Correct Answer: 33 — 38

Candidate Answer: 33 — 38

QID : 18 - In the following question, select the odd number pair from the given alternatives.

Frafiad vy ® faw e fasedt & § v e gm &1 gl
Options:

1)14-21

2)19-285

3)17-25.5

4) 36 — 46

Correct Answer: 36 — 46

Candidate Answer: 36 — 46

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Loathe
2. Living
3. Locate
4. Local

5. Literate

fafRad <Ieal 3T Usad I H 3 a1 HH & IR ford |

1. Loathe
2. Living
3. Locate
4. Local

5. Literate
Options:
1) 52143

2) 52134
3) 51234

4) 51243
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Correct Answer: 52143
Candidate Answer: 52143

QID : 20 - According to dictionary, which of the following word will come at FIRST position?
1. Narrate

2. Narrow

3. Naked

4. Naive

5. Nasty

WLHI & IR, FEfad ¥ ¥ HH 1 Wsg Tgd ™ W 3MT?

1. Narrate
2. Narrow
3. Naked
4. Naive
5. Nasty
Options:
1) Naked
2) Naive
3) Narrate
4) Narrow

Correct Answer: Naive
Candidate Answer: Naive

FRESHERS NOW

QID : 21 - From the given alternatives, according to dictionary, which word will come at SECOND position?

fau e fawedt & 9, eEdIN & IR, HIF Tl Weg gax VI TR R
Options:
1) Prodigy

2) Proceed
3) Product

4) Producer
Correct Answer: Prodigy
Candidate Answer: Prodigy

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RIF, KBY, DUR, WNK, ?

TF 3gehd o T 8, o ¥ Ue U g B U MU faw et 7 I a8 uet e g, S g d & |

RIF, KBY, DUR, WNK, ?

Options:

1) LFD

2) PGD

3) PNC

4) NGB
Correct Answer: PGD
Candidate Answer: PGD

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PV, UA, ZF, ?, 3P

T I a7 B, R 9 U ue g 31 fu e st # ¥ 95 W) fawed gAT, St 3 B g

PV, UA, ZF, ?, JP

Options:

1) EK

2) DL

3)B]

4) DK

Correct Answer: EK

Candidate Answer: EK

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

F,3,0,5,2,B,G
T 3gehd foar g, o ¥ Ue U qw 81 i3 T fawedt § 9 9 Ut Ao g, S o d B |
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Options:
1)Y

2) X
FRESHERS NOW
3)z

4)C

Correct Answer: X

Candidate Answer: X

QID : 25 - In the following question, select the missing number from the given series.
14, 16, 30, 45, 62, 132,?,?

fafoRad uy & iU U fawedl § ¥ g 8i® 1d S|

14, 16, 30, 45, 62, 132,?,?
Options:
1) 124, 396

2) 126, 393
3) 82, 243

4) 106, 343
Correct Answer: 126, 393
Candidate Answer: 126, 393

QID : 26 - In the following question, select the missing number from the given series.
6, 25,62, 123, ?, 341
fafafad uy & iU U fawedl & 9 g oi J1d Siforg|

6, 25,62, 123, ?, 341
Options:

1) 194

2) 156

3) 214

4) 278
Correct Answer: 214
Candidate Answer: 214

QID : 27 - In the following question, select the missing number from the given series.
53,19, 72,91, ?, 254
fafafed vy # fau T el # ¥ g 8id 1d Sifv

53,19, 72, 91, ?, 254
Options:
1) 149

2) 163
3) 123

4) 213
Correct Answer: 163
Candidate Answer: [ NOT ANSWERED ]

QID : 28 - In a certain city there are five towers. Tower III is taller than tower II. Height of Tower V is the average of the height of towers I and IV. Height of
Tower II is the average of the height of towers I and III. Height of Tower I is the average of the height of towers II and V. Which tower is the shortest?

ot e H U rar €1 TTaR 111, TTaR 11 ¥ S 81 TR V &1 SHaTs laR I 3R 2IaR IV Bt $HaTs o 39d g1 TTeR I Bt s eraR I 3R <TaR 111 1 TS 1 39
B TR 1 Y SHaTS 2R 11 3R TR V B SIS &1 39d § | T HH TS arell <aR BT I7 82

Options:

1) IV

2)V

3)1

411

Correct Answer: IV

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - X said to Y that my sister's father-in-law is your husband's father. How are X and Y related?
XY Y HP 5 B 787 & TR TR ufd & Dar §1 X SR Y T g I Y et g2
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Options:

1) Y is wife of X's sister's husband's brother

Y, X @1 98 & Ufd & W1S B Uell B

2) Y is sister of X's sister's husband

Y, xﬁm%uﬁﬁa’sﬁ% FRESHERS NOW
3) X is husband of Y's husband's sister

X, Y ¥ ufy Bt g w1l §

4) X is wife of Y's husband's brother

X, Y & ufd & U B uelt B

Correct Answer: Y is wife of X's sister's husband's brother

Y, X 1 56 & Ul & WIS BT uel §

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
VOCABULARY

frafafed fawedl § ¥ 98 Xeg Y off T 71T XMeg & 1&RT BT TANT Hb ol ST ol Gabdl:

VOCABULARY
Options:
1) vocal

2) ulcer
3) labor

4) burly
Correct Answer: ulcer
Candidate Answer: ulcer

QID : 31 - If OBSCURE is coded as NARBTQD, then how will THY be coded as?
Jf¢ OBSCURE &1 %S f NARBTQD foraT ST € af THY &1 His & 5 ferar saam?

Options:
1) GSB

2) VIA
3) SGX

4) UIZz
Correct Answer: SGX
Candidate Answer: SGX

QID : 32 - In a certain code language, 1259 means 'box in the ring', 6941 means 'the square boxing ring' and 5713 means 'put the box out'. Find the code for 'ring'.

foddt fAfdya wrs ymr & 1259 7 31 B 'box in the ring', 6941 &1 34 B 'the square boxing ring' 3R 5713 1 31 % 'put the box out'l 'ring’ % forg ®rs I B
Options:
1)1

2)9
3)2

4)5
Correct Answer: 9
Candidate Answer: 9

QID : 33 - In a certain code language, '+' represents '-', '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
160x40 +-20+10-2="7?
foeht Py e u H '+, - B veRid HRar g, -, % B UeRid FRaT 7, X, '+ B USRI HRar g R '+, '+ F TERid wRar 71 Fefafed vy &1 W [ s

160x40+-20+10-2="7?
Options:

1) 328

2) 85

3)52

4) 4

Correct Answer: 4
Candidate Answer: 4

QID : 34 - If 50 % 15 = 70 and 23 % 20 = 6 then find the value of 10 % 4 = ?

T 50 % 15 = 70 3R 23 % 20 = 6 1 10 % 4 = ? BT HH Jd DI?
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Options:

1)6

2) 14

3)12

4)7 FRESHERS NOW
Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID: 35 - If A * B means A is mother of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C + D % E * F mean?

IEA*BHT SR IH A BB TR, A+ BB SfB A BB TGARMARZA%BH A HA B ERENC+D % E*Faraar aif g2
Options:

1) Cis daughter of F

CFIER

2) Cis mother's sister of F

CFH TP T

3) Cis sister of F

CFH e

4) C is mother's mother of F

C FRI AP AR

Correct Answer: C is sister of F

CFHT AR

Candidate Answer: C is mother's mother of F

CFHHBIHIE
QID: 36 -

Select the missing number from the given responses

e g farepedt % < S W g

S

“-J
o

Options:
1)2

2) 10
3)7

4) 11
Correct Answer: 10
Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
OXXXXX, XXXXXO0, XXXXOX, XXXOXX, XXOXXX,
frofafed & 9 o1 @1 ug & R g & 1 & SER 72

OXXXXX, XXXXXO, XXXXO0X, XXXOXX, XXOXXX,
Options:

1) XXXXXO

2) XXXXOX

3) XXXOXX

4) XOXXXX

Correct Answer: XOXXXX

Candidate Answer: XOXXXX

QID : 38 - A bird starts from its nest and flies 3 km North, the turns West and flies 4 km, then turns South and flies 11 km, then turns to its left and flies 4 km.
Where is it now with respect to its nest?

T vl ST IS ¥ IS URY IRAT 8 3R IR BI 3R 3 fFhaidiex oo e 31 R a8 ufdd 3 ¢k 4 fhaniier 9% SdT 81 39F 91 98 <féivl 3 3R ggdr §
3R 11 fFamex 9% ISdT 8 aUT 3P d1C a8 a18 3R IR 4 franiicr de Iear 81 Oiud I o Iqa! Rufa @1 82
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Options:

1) 8 km North

8 frdmiey 3™

2) 8 km South

8 fardiiiteR gfémor FRESHERS NOW
3) 14 km South

14 framficr gfor

4) 14 km North

14 fpamiex W

Correct Answer: 8 km South

8 frdimitex &fém

Candidate Answer: 8 km South
8 fraitex aférmr

QID : 39 - Two cars start from the same point on a highway. Car X travels North 25 km and then turns right and travels 14 km. In the meanwhile car Y travels 19
km South, then 3 km West, then 4 km South , then it turns left and travels 17 km. Where is car Y with respect to car X?

et 5153 W < BR TP TY IA IR FAAT &1 PR X, 25 [Paies Iw 3 3R Tadl 7 3R R 3R geaw 14 fFaidier Tad 81 S T $R Y, 19 fFamie
gﬁ&ma’»“r@ﬁﬁ?ﬁ% 3R forR 3 foraiiiieR ufd qut 4 fhaimieR <fém @t 3R Fad § 3R ITF a1e a8 3R gax 17 fhamier gadi 81 PR X & T A SR Y &et
?

Options:

1) 48 km North

48 fHaniiex I

2) 10 km South

10 foremfier gfeor

3) 48 km South

48 fpaicR <fémor

4) 10 km North

10 framier I

Correct Answer: 48 km South
48 fpaieR <fémor

Candidate Answer: 48 km South
48 e afémor

QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No lemon is sour
Statement II: All sour is yellow

Conclusion I: Some yellow is lemon
Conclusion II: All lemon is yellow

us A < U el T € o oY &1 Fepy 1 3R 11 FiepTal T B 1 Ut I ® 3 S U 9 © TR 9% I T aet i velia 21 € emuee! fAufa s
? o1 fou 7 e § @ oF-T/eH-8 ¥ 0 ¥ S gR1 I8 e S Iear 3/9%d §, afe B8 81

BYL: BS Ag W T
HYF 11: T Tl dren &

e 1: po den g 3
foreed 11: ot g dia €
Options:
1) Only conclusion I follows
SHad ey 191 &
2) Only conclusion II follows
11 96 §
3) Both conclusions I and II follow
T frsepef 18R 11 9Et @
4) Neither conclusion I nor conclusion II follows

1 A 1 9} ® 1 € s 11

Correct Answer: Neither conclusion I nor conclusion II follows

Ay 1 Ef e TR A 1
Candidate Answer: Neither conclusion I nor conclusion II follows

1 a s 1 9 & 1 & A 11
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QID : 41 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All lakes are pools
Statement II: No tanks are pools FRESHERS NOW
Statement III: Some seas are lakes

Conclusion I: Some seas are pools
Conclusion II: Some tanks are lakes
Conclusion III: No lakes are tanks

Uy B I wy 23 M § e omY A e 1, 11 3R 111 Feral T § 1 3iues! {9 R 6 i ue e § 918 9% IMd: 9d 9t § i vl g1 81 eimuet i
BT R P! 3 MY el & § HF-a73A-3 P U $YF gR1 TE Hbren o Tt g/9%d §, IS 3 8

P I: Wi i o §
HYTII: DTS &b a1 781 &
HY III: $S T 90l 8
ey 1: g
wﬂg%aggﬁ%%
ey 111: 1% A ¢ e

Options:

1) Only conclusions I and II follow
fAspd 1 SR 11 W R

2) Only conclusions II and III follow

Fad Fsps 11 3R 111 98t ¥

3) Only conclusions I and III follow

Had Iy 1 oK 111 I 7

4) All conclusions I, II and III follow

A e 1, 11 SR 111 e

Correct Answer: Only conclusions I and III follow

e ey 1 3R 111 9e §

Candidate Answer: All conclusions I, II and III follow

I sy 1, 17 R 111 TR
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

freAforae ST armepfer 3 & Bl &1 B Ry Ty
ST IeT = et & A ST a1 ST Aebel1?

0
B X [ooo
w
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Options:

[y
—

FRESHERS NOW

N

) & &6 &

w

Y

Correct Answer:

=

Candidate Answer:

v

QID: 43 -

Which of the following answer figure patterns
can be combined to make the question figure?

ferAferRae SR eier A & B A Hfereul 1
SIS U T T STPIeT DI ST ST el 57
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Options:

FRESHERS NOW

2)
3)

4)
Correct Answer:

Candidate Answer:

QID: 44 -

In the following figure, square represents Runners,
triangle represents Scientists, circle represents Indians
and rectangle represents Mothers. Which set of letters
represents Indians who are runners?

frfeiRaa forsr & o, et @t nafia sear &, fng,
T HER SR Bl SHERY BT BI AT WE I AT Y
yefifa oxar & St enad 82

Options:
1) CEB

2) HFE
3) HF

4) IG
Correct Answer: HF
Candidate Answer: [ NOT ANSWERED ]

QID: 45 -

Which of the following Venn diagrams represents the
relationship between Elephants, Giraffes and
Herbivores ?

fr=iferRad & @ o ar o= R el fwm il
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Options:

FRESHERS NOW

2)

©

3)

4)

®)

Correct Answer:

Candidate Answer:

QID : 46 -

Which answer figure will complete the pattern in the
question figure?

ferrferRac & & - S= el wer spfer & uftea
I IR Y2
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Options:

1) 5,
E FRESHE‘RS NOW

7
¥

Q

/)

2)

3)

4)

3
R

QID:47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

1 Y SR arrepfrdt H F I BT Y A o
ey farfea 21



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1)

FRESHERS NOW

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

% JMHrl 7 fRETT SHR BRI Bl ATSHR S
BT P AT Wi & 1S I8 g IR 3rrepfer Siar
fears <2

1
-
-
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Options:
1)

~OOY
o 0
o O

OO~

2)

00~

3)

00

00 /]

L/ 00 ]

Q0

4)
O O O

oo
O 0 O

Correct Answer:

L/ 00\

o] O
o] O

00 /]

Candidate Answer:

L/ 00 A

L/ 00
00

Q0

QID:49 -

If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

o @ g @ MN Y W @ AU od & IR
FEtal & & - 3 e I # w A e

i
© |,

-
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Options:

1) -
O \ FRESHERS NOW

2)

3)

4)

>
B

Correct Answer:

Y
N

Candidate Answer:

Y
N

e 1 N_o
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QID: 50 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numberad from 0 to 4 and that of Matrix-1|

FRESHERS NOW

are numbered from S to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'J' can be represented by
34, 20 etc and 'Q' can be represented by 78, 97 etc. Similarly, you have to
identify the set for the word 'INKY".

e 96 el o WRT-THE R ST T &, ST (e farpent 4 3 fael ue
e 1T &1 e 7 o 717 WeT-ag S8R & &l a7l g1 GAig e 8, e
o T & aregel & &) amvee-| & TR ofi Ul T EwE 0 9 4 ofT anegE-l 1 5
& 0 B 37 aeEl & U o7 of et ISt ot il aTe ¥ we e g avfar
T e B SRR i 1T ' @Y 34, 20 AR ST SeifET @ e & a9 'Q @
78, 97 371 FRT SAATAT O T &1 S 7% % S9! w7 BT 9es INKY' &
fér g &t gear 21

Matrix | HTEEL Matrix Il HTEE|
|

ml—|=|z|=|=

@ || |-

@[ == | 7= [h
(M@= ||

m|=|m @ || =

=|m|= B |=|n
= |0 | = e o
ole |« o=
= (0|0~ = [
32 (0| = | | F [

ER R NE Lo =)
W | |~ o |in

Options:
1) 32,58,02,75

2) 34,85,98,10
3) 43,89,04,55

4) 11,67,03,65
Correct Answer: 32,58,02,75
Candidate Answer: 32,58,02,75

QID : 51 - In a period of inflation and price rise the supply of money

IERwY R Fa & g Y erafy & ¢ B agff B Bl
Options:
1) increases

2) decreases

3) remains the same
TP g
4) increases or decreases proportionately

AMUS €U ¥ gig a1 HH

Correct Answer: increases

Candidate Answer: increases

QID : 52 - Who among the following is related with ‘Labour Theory of Property'?
frofafed & 3 oF gl & yv g § wwafld 32

Options:

1) Adam Smith
TeH Ry

2) John Locke
EIpkiicy

3) 1.S. Mill
J.uy. e

4) J. J. Rousseau

Correct Answer: John Locke
SISENIE

Candidate Answer: Adam Smith
Ten fy

QID : 53 - Which is India's first "Global Telecom City" in the following?

fFafifea & YRd &1 uge "aed <forpid R 9 a1 3?
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Options:
1) Hyderabad

2) Noida
3) Kolkata
HIAPBIT

4) Bengaluru
Correct Answer: Bengaluru

Candidate Answer: Bengaluru

QID : 54 - According to World Bank what was the approximate land utilization percentage of India for agriculture purposes?

3y S & SR PN wieF & e URa &1 srgEfa Yy Uz ufasrd o 2015 & AT T AT
Options:

1) 50%

2) 60%

3) 70%

4) 45%

Correct Answer: 60%

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Which among the following was used as the motto for Census of India 2011?
HRA B SFRIUMT-2011 & foe Fafoiad & & SF-1 st areg IuanT fsar e ur?

Options:

1) Our Country, Our Family

3R Pel, AR

2) Our Duty, Our Census

SR T, MR G

3) Our Census, Our Future

SR Y, AR IR

4) Our Country, Our Census

R HTY, AR G

Correct Answer: Our Census, Our Future
SR Y, AR TR

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - Which of the following is not a feature of good governance?

frafafaa & @ o1 g ot v 76 82
Options:
1) Accountability

2) Transparency

3) Red Tapism

o

4) Rule of Law

B & |

Correct Answer: Red Tapism
GINRIGIRIG]

Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Who rejected the "Principles of Administration as myths and proverbs"?

"RryeY 3R BeTadl & w0 & UIRH » Rigrar & feae srdier fbar 82
Options:

1) F.W. Riggs

5. S R

2) Dwight Waldo

ECECEIS]

3) Herbert Simon

g Qg
4) Frank Marini
hep AT

Correct Answer: Herbert Simon
EECASIEEE]
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Which of the following is related to the Second Schedule of Indian Constitution?

HRAT TR B gadt et &1 Ty 390 9§ fhed 82
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Options:
1) Representation in the Rajya Sabha

7T HT |
2) Language
Hror FRESHERS NOW
3) Oath taking
RMTY TGl
4) Salaries of important officials
3
Correct Answer: Salaries of important officials
| &7 3a
Candidate Answer: Salaries of important officials
Eal

QID : 59 - The concept of single citizenship in the Indian Constitution is inspired by which country?

YRS Tfau™ & Thd ARG BT SGUROT 5 337 9 IRk 82
Options:

1) Germany

STt

2) France
g

3) Ireland
IRRAS

4) England
Correct Answer: England

Candidate Answer: England

QID : 60 - The authoritative text of the Indian Constitution in Hindi was authorized to be published which of the following constitutional amendments?

YR Afqu™ & Wied fe<l ure & Fafafed dfaum St § § fode gRI ISR &1 & A iftiga fasar mare
Options:

1) 57" Amendment, 1987

57-91 T, 1987

2) 58t Amendment, 1987

58-gf TN, 1987

3) 59t Amendment, 1988

59-gf =MeM, 1988

4) 60" Amendmend, 1988

60-aT TN, 1988

Correct Answer: 58t Amendment, 1987
58-af =MeM, 1987

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - The Chalukya ruler Pulakesin's victory over Harshavardhana was in year

I AH JAB A BT g¥ad W faor &1 af |
Options:

1) 612 A.D.

612 St

2) 618 A.D.

618 St

3) 622 A.D.

622 St

4) 634 A.D.

634 3!

Correct Answer: 618 A.D.
618 3t

Candidate Answer: [ NOT ANSWERED ]

QID : 62 - Which of the following Sufi order was the most orthodox?
fofafaa § ¥ SH-T1 gt Juer Jaifte sfearct ur?
Options:

1) Chishti

foreet

2) Qadiri

EIIER]

3) Sarwari Qadri

W wifed

4) Nagshbandi

REXICE]

Correct Answer: Nagshbandi

Candidate Answer: [ NOT ANSWERED ]
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QID : 63 - For which of the following rulers 'Ekabrahmana’ has been used?

frofafad Tre! & 3 frads o weT sTeToT wed e 82
Options:
1) Kharavela

2) Susharman
3) Pushyamitra Sung

1
4) Gautamiputra Shatkarni
Correct Answer: Gautamiputra Shatkarni

Candidate Answer: [ NOT ANSWERED ]

QID : 64 - Who was the first person to be selected for "Individual Satyagraha" during the Indian Independence Movement?

RS AT TR P SR "safdTd Tmg" & forg I 78 U safad & 47
Options:

1) Deshbandhu Chittaranjan Das

Ry feraeeH g

2) Sardar Vallabhai Patel

TR THUTS Ted

3) Dr. Rajendra Prasad

3. o= TG

4) Acharya Vinoba Bhave

SeiACEICIRIC

Correct Answer: Acharya Vinoba Bhave

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - Mountbatten Plan (June 1947) provided for a referendum in which of the following province?

ARese WH (S 1947) = FofaRad § 9 {69 Uid & SHyd 998 Wer faar are
Options:

1) Sindh

Ry

2) Punjab

LEIC)

3) Baluchistan

4) North-West Frontier Province
IWR-UfEH W uid

Correct Answer: North-West Frontier Province
IWR-UfEH W uid
Candidate Answer: [ NOT ANSWERED ]

QID : 66 - Which of the following is not an example of a metamorphic rock?

frafefad & SH-a1 SuidRd TgH &1 IaER T8 82
Options:

1) Gneiss

Bk

2) Phyllite
s C
3) Schist
e

4) Granite
Correct Answer: Granite

Candidate Answer: [ NOT ANSWERED ]

QID : 67 - Stratellite is the

QAT gandl

Options:

1) Uppermost band of stratosphere

HATIHST BT Tad S &

2) Lowermost band of stratosphere

YIS BT T e 88

3) High altitude airship positioned in the stratosphere
3 Far R gHaIHed § wifd

4) Natural satellite of Jupiter

Tef BT UHidd ITI8

Correct Answer: High altitude airship positioned in the stratosphere
HfYF SHarE R IHaIHSd H R

Candidate Answer: [ NOT ANSWERED ]
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QID : 68 - Mount St. Helens is an active stratovolcano located in which of the following countries?

fepa R sarangdt udd Je go-g el 7 @ feu S R &2
Options:

1) Japan

SICIE]

2) United States of America

gk I

3) Chile

ferett

4) Italy

Correct Answer: United States of America

T I SARDBT
Candidate Answer: [ NOT ANSWERED ]

QID : 69 - In which Indian state is the Nanda Devi peak located?

Far 3t A1t wRa & fore o & fRya 82
Options:

1) Sikkim

oy

2) Himachal Pradesh
3) Jammu and Kashmir
0] U HIHAR

4) Uttarakhand

Correct Answer: Uttarakhand
JRIHTS

Candidate Answer: [ NOT ANSWERED ]

QID : 70 - India shares longest international boundary with which country?

frafofed & f5u 3w & Y yRa gaffe awl siRftha S g e &2
Options:

1) Pakistan

2) Bangladesh

CRGIE

3) Nepal

Jura

4) China

GG

Correct Answer: Bangladesh

Candidate Answer: Bangladesh

QID : 71 - Which of the following states became the first to shift to January to December financial year?

o o Sat @ feuweR ufkafda wa arer wuw 59 S §1 82
Options:
1) West Bengal
PIEEED G
2) Uttar Pradesh
3R
3) Madhya Pradesh
T UG
4) Himachal Pradesh
e

Correct Answer: Madhya Pradesh
o UG
Candidate Answer: [ NOT ANSWERED ]

QID : 72 - What is the name of satellite that was carried on-board PSLV-C40 rocket in ISRO’s historic 100t satellite launch on 12 January 2018?

12 A 2018 H TIRY B Afaeye 100-FF Iwrg vayw § droguad-wh 40 Fhe gRT ARG Yo Yadh IUE BT A T 82

Options:

1) Cartosat-2C
-2C

2) Cartosat-2D
-2D

3) Cartosat-2E
-2E

4) HTede-2F

Cartosat-2F

Correct Answer: H1cidc-2F

Cartosat-2F
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QID : 73 - The 'Malabar' is a naval exercise between which of the following countries?

AEER FERad o 9 57 <= & i BT T TR/ 3 32
Options:

1) India and China

YR 3R

2) India, Japan and USA

R, SITA 3R

3) India, South Korea and Japan

HR, &faor i iR S

4) India, Bangladesh and Sri Lanka
Correct Answer: India, Japan and USA
R, ST 3R Juay

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Whom did Rafael Nadal defeated to win the US Open 2017 Men's Singles title?

MG TSI A Tl TR G, TH. 3T 2017 BT J3Y Uehd Radre siar?
Options:

1) Kevin Anderson

PHfad TexeH

2) Roger Federer

IR R

3) Stan Wawrinka
R aaRe!

4) Horia Tecau

Correct Answer: Kevin Anderson
B TexA
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Whom did Pankaj Advani defeat to win the Asian Billiards Championship title in year 2017?

Ut argamft 3 oy 2017 & Y g1eR wRrA [Rftag AR &1 feame siar
Options:

1) Aditya Mehta

e Agar

2) Manan Chandra
T d=

3) Subhash Agarwal
gHTY 3fared

4) Sourav Kothari

Correct Answer: Sourav Kothari

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - “India : The Future Is Now” is written by .

"$fEU TR EI AR GRI Rl TR B
Options:

1) Kapil Sibal

EIEGARER

2) Arun Jaitely

S et

3) Rajnath Singh

RUSEIKAR]

4) Shashi Tharoor

R Y=

Correct Answer: Shashi Tharoor
RURIRISC

Candidate Answer: Arun Jaitely
30T St

QID : 77 - Who among the following has received Rajiv Gandhi Khel Ratna Award in August 2017?

frofoied o 9 fram era 2017 § Toita i W e RESR UT fobar 82
Options:
1) Sardar Singh
WeR Rig
2) Khushbir Kaur
PR

3) S. V. Sunil

Ty, . gl

4) Varun Singh Bhati

=01 Rig Hich

Correct Answer: Sardar Singh
wer Rig
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Candidate Answer: [ NOT ANSWERED ]

QID : 78 - The traditional festival of Losar 2017 was celebrated in which of the following state?

fFofafea & 3 feg T & uRuRe Id AR 2017 HET T/ UT?
Options:
1) Himachal Pradesh

2) Rajasthan
RERIE]

3) Uttar Pradesh
JR U

4) Bihar

Correct Answer: Himachal Pradesh

Candidate Answer: Himachal Pradesh

QID : 79 - Which of the following countries have signed comprehensive anti-terror pact agreement in November 2017?

fafefad & ¥ fob =i 3 o 2017 § 19 3iidebdrg faRid Y IHeia W gwaner fhar 82

Options:

1) India and USA
YR dYT g, Ty.u.

2) India and Sri Lanka
YR AT SicidT

3) India and China
YRA a1 9

4) India and Russia
HRA YT ="

Correct Answer: India and Russia
HRT dUT =4

Candidate Answer: India and Sri Lanka
YR a1 SiciaT

QID : 80 - The only country in the world whose flag is not a square or rectangle is

fay % torH @ e T e T A TR T oadR 3l
Options:

1) Sri Lanka

oficiepT

2) Bhutan

YT

3) Maldives

edla

4) Nepal

B

Correct Answer: Nepal

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In which of the following the Data Structures perform an important role?

fofafea 7 3 feud ST woR e Aeayul Yie Fue §?
Options:

1) Input device

ERGAREIES: ]

2) Hardware
3) Program design

4) Logic gate
UGG

Correct Answer: Program design
o fEems
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - What is the full form of 'MAN' in computer terminology?

PR G H THUC T SO FU 37 82
Options:
1) Margin Area Network
Jeqds
2) Maximize Area Network

3) Metrobolitan Area Network

4) Megabyte Area Network
WTaTEe Ui Aead
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Correct Answer: Metropolitan Area Network

X

Candidate Answer: Metropolitan Area Network

X

QID : 83 - Which of the following reaction is an example of exothermic reaction?

Fofoiaa & @ o= o sifiifssar, Somand sifiifssa o1t IamRu 72
Options:
1) Burning of natural gas
9 &1 gg4
2) Respiration
CRN]
3) The decomposition of vegetable matter into compost.
S &1 fage §ioR HURET 11
4) All options are correct.

uff faprey I B

Correct Answer: All options are correct.

uff ey TS B

Candidate Answer: Burning of natural gas

Uipfae T o1 a8

QID : 84 - Which of the following solution is used in black and white photography?
fofoiad o ¥ 19 91 fJerme <o 91 49 Wit & IuanT a1 S 82

Options:
1) Silver chloride

2) Silver bromide
3) Silver iodide

4) All options are correct.

Tt ey Tt B

Correct Answer: All options are correct.

it faspen It B

Candidate Answer: Silver bromide

R RS

QID : 85 - Which of the following shows exception to the Octet rule?

fofafea # @ B9 a1 3w om & sruare &1 g 82
Options:

1) Carbon

HraA

2) Boron

3) Neon
[EEC]
4) Argon
3T

Correct Answer: Boron

Candidate Answer: Carbon

QID : 86 - Which of the following angles are equal in case of plane mirror?

I. Angle of incidence
II. Angle of refraction
III. Angle of reflection

I eUu ) fRURY 7 Fufifad § § #1973 107 39 § SR 8l 872

1. 3Ta o

IL. 30ad ST

III. TR HIor
Options:

1) Only I'and II

Had I AT 11

2) Only I and III

Had I T 11T

3) Only IT and III

Had I1 9T 111

4) All the given angles are equal.
fou g vt P SRR §

Correct Answer: Only I and III

SHad I T 11T

Candidate Answer: Only I and III
%ad 1 quT 111
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QID : 87 - Which of the following is a heterogeneous mixture?

faffad & @ o 91 v Ay fyor 82

Options:
1) Solution

2) Suspension

3) Both Solutiqn and Suspension
foerg qun
4) Neither Solution nor Suspension

1 g} faeas 71 8 Fdes

Correct Answer: Suspension

Candidate Answer: Both Solution and Suspension

e aur fcieH gef

QID : 88 - Filament of electric bulbs are generally made of

fagad 9ol & g I AF AT
Options:
1) nichrome

2) tungsten
3) constantan
4) manganin

Correct Answer: tungsten
E’ EE
Candidate Answer: nichrome

QID : 89 - Which of the following is Fleming's right hand rule?

frofafaa & 9 o o1 wifth o1 g Fom g2
Options:
1) Induced current is directed in the direction of movement of conductor.
et B IR YR, e Y T Bt o= & gl 21
2) Magnetic field is directed in the direction of movement of conductor.
i & 1A @I T B A F St 7
3) Magnetic field is directed in the direction of induced current.
Haeb1g &, IR T P e & S 31
4) Movement of conductor, magnetic field and induced current are perpendicular to each other.
AT 1 T, Yoo & T IR URT 310 & dfgad 8ia 81

Correct Answer: Movement of conductor, magnetic field and induced current are perpendicular to each other.

e B T, YT & qT WG URT M0y & cad 81 3
Candidate Answer: Magnetic field is directed in the direction of induced current.

Huepi &, URa oRT BT few & g 3

QID : 90 - What is the numerical value of temperature at which Fahrenheit and Celsius scales are equal?

YA T 98 UTSdih T § Sal BR-gIEe YT ARy g 90 T9H 8ld 872
Options:
1) 40°

2) - 40°
3) - 34°

4) - 140°
Correct Answer: — 40°
Candidate Answer: — 34°

QID : 91 - Which disease is caused by deficiency of Vitamin B?

faerfer B & &t § B w1 A7 S 82
Options:

1) Beri-Beri

T

2) Rickets

3) Kwashiorkor

4) Scurvy
Wt
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Correct Answer: Beri-Beri

Candidate Answer: Kwashiorkor

QID : 92 - During heavy exercise, we get cramps in the legs due to the accumulation of

FHOR AW HRd IHT gAR Y & % T % PR TS Bl g
Options:
1) carbon clioxide
FIa SRATHES
2) lactic acid
3%
3) alcohol

4) water
EG)

Correct Answer: lactic acid
SR

Candidate Answer: lactic acid
ST

QID : 93 - With which of the following does Haemoglobin has maximum affinity?
fFrafafea & @ frae Ty Serafe @1 sftiead sy g 82

Options:
1) Oxygen
KlIGRicE]

2) Carbon Qioxide

Fla SRAHTFES

3) Carbon monoxide

PIa TS

4) Nitrogen

Correct Answer: Carbon monoxide
Fra GRS

Candidate Answer: Oxygen

QID : 94 - Which of the following is NOT unicellular?

frofafed & 3 o 9 tw-sIRwY T8 37
Options:
1) Euglena

2) Amoeba
Srfter

3) Paramecium
4) Hydra

Correct Answer: Hydra

HEE
Candidate Answer: [ NOT ANSWERED ]

QID : 95 - Which of the following controls the amount of light entering the eye?

fofafaa 7 ¥ B9 93 & 13w SR aTe B 31 A6 &1 ufd SR 82
Options:

1) Iris

2) Cornea

3) Aqueous humour

4) Crystall!ne lens

Correct Answer: Iris

Candidate Answer: Iris

QID : 96 - Which of the following disease is caused by bacteria?
Fffd & @ &1 &1 A7 Sia1y) & SR g 82
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Options:
1) Tuberculosis

2) Common-cold
-o[h

3) AIDS

sy

4) Dengue fever

STIER

Correct Answer: Tuberculosis

Candidate Answer: Tuberculosis

QID : 97 - Excess of fluoride in drinking water causes

1R & o H WRSS Bt % A BT HRO T
Options:

1) lung disease

BWHS! & AT

2) intestinal infection

STt BT THHHOT

3) mottling of teeth

ardl &1 fodiaR &9

4) No option is correct.

B fadhed JEl el 81

Correct Answer: mottling of teeth
afdl &1 fodieR &7

Candidate Answer: mottling of teeth
Sidl ®1 foiiaR &1

oo, fggaur_ wiRuien & R dF R €
Options:
1) Rewise

QID : 98 - Reduce, Reuse and are the three R's to save the environment.

2) Restore

3) Recycle

4) Recall

Repra

Correct Answer: Recycle

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Fine solid particles or liquid droplets suspended in air are called

g # Pl Bie Bie o1 BT 3ydl okd B g GG
Options:
1) Aerosol

2) Emulsion

SHEM
3) Foam

4) Gel
EGI
Correct Answer: Aerosol

Candidate Answer: Aerosol

QID : 100 - Which among the following ecosystem have inverted biomass pyramid?

fafafad & ¥ g uifufas! 3 o1 Ieer shaur () fRifrs g 32
Options:
1) Marine ecosystem

GE)
2) Grassland ecosystem

GES
3) Both marine and grassland ecosystems
et T Aert aikiRufaet o et
4) Neither marine nor grassland ecosystem
1 g1 Sl A1 8 i
Correct Answer: Marine ecosystem

GE}

Candidate Answer: [ NOT ANSWERED ]
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QID : 101 - Air permeability method is used in which of the following test of cement?

Wit 31 e 7 ¥ o @ S § a1 uRewar f[afy &1 U Bt 82
Options:
1) Compressive strength test

dpa Tl aigon

2) Fineness test
IPTAl TR
3) Soundness test
Tl TRIg
4) Slump test
et TRter
Correct Answer: Fineness test
Ip el T
Candidate Answer: Fineness test

ISPl URIEUT

QID : 102 - The main purpose of the soundness test of the cement is to determine the ___.

WeH eeaenH g g s gl
Options:

1) change in volume of cement after setting

G & §1G e ST A H sead

2) strength

i

3) fineness

IPprdl

4) time taken to harden

PR BH T T I

Correct Answer: change in volume of cement after setting
SHIG & §1E e S A H sead

Candidate Answer: change in volume of cement after setting
TG P I1E e B T H geaa

QID: 103 -
What is the target mean strength (Nfﬁmz] of the M30
grade concrete, if the standard deviation is 5.07

fg A=E faae= 5.0 &, dTvA 30 5 Fhe r
e ArEAfdd (N/mm?) FT§?

Options:
1) 21.75

2) 30
3)38.25

4) 40.25
Correct Answer: 38.25
Candidate Answer: [ NOT ANSWERED ]

QID : 104 - Which of the following method is used to make the timber fire resistance?

b ST B ST TRy s & g Fafefea o ¥ oF & ugfa o1 Suai e s €2
Options:

1) Coating with tar paint.

TR & U & 1Y HIfAT

2) Pumping creosote oil into timber at high pressure.
I GAd R AHS! | $h3fIe BT od T Al
3) Seasoning process.

4) .Soaking itin ammonium sulphate.

Correct Answer: Soaking it in ammonium sulphate.

Fethe | w0

Candidate Answer: Pumping creosote oil into timber at high pressure.
I 3919 R dHl H H3NGIE T ad T HAT

QID : 105 - In which of the following process, plug mill is used?
Fufafea 7 3 5w uftear & @i fira &1 Suai fasan i 82
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Options:

1) Burning of bricks
[ I T

2) Drying of bricks

gl &1 g@rT

3) Moulding of clay

for) &1 g

4) Preparation of clay

Correct Answer: Preparation of clay
fart o) ot
Candidate Answer: Moulding of clay

gt 1 emg

QID : 106 - According to the IS specifications, initial setting time of the ordinary Portland cement should be ___.

37E.wy. A=l & oruR, WruRer Gidds Hide &1 uRfie AfdT o g anguy
Options:

1) 10 minutes

10 fiFe

2) 30 minutes

30 fire

3) 6 hours

6 ©c

4) 10 hours

10 ¢

Correct Answer: 30 minutes

30 foFe

Candidate Answer: 30 minutes
30 fire

QID : 107 - Which of the following is the main reason to provide frog in the bricks?
frafafaa & @ S @ € A BT UeH B BT I BRU 82

Options:
1) Print manufacturer’s name.
1 flie B
2) Form keyed joint between brick and mortar.
£ 3R HTe & o I oSl 89 $ R
3) Improve thermal insulation
ST SfaRIE FUR
4) Reduce the weight of brick.
3¢ & IO B! HH B

Correct Answer: For_m keyed joint between brick and mortar.
gc IR 7T & S Ugad SieT §FH & o
Candidate Answer: Reduce the weight of brick.

g & IO B HH B

QID : 108 - Which of the following is used as the vehicle in the enamel paints?

fofafea 7 9 o9 a1 TImd Ue o aga & =0 & vanT fear S 82
Options:
1) Linseed oil
Cal
2) Mustard
e
3) Varnish
ClURRI

4) Water
et
Correct Answer: Varnish

Candidate Answer: [ NOT ANSWERED ]

QID:109 -

If one cement bag has 0.035 n?* volume of cement, the number
of bags required for one tonne of cement is

T U HiFe &1 7 TR &1 AGd- 0.035nT &, AT U oA HHC &
ToIT 3raees o T g Bl
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Options:
1) 10

2) 12
3) 15

4) 20
Correct Answer: 20
Candidate Answer: 15

QID : 110 - Which of the following is fused together to prepare the high alumina cement?

I AT Yiie TR HA F fae Fw & 3 o a1 v ary fiyarn @ g2
Options:

1) Bauxite and limestone

SaTge SR AT URR

2) Bauxite, limestone and gypsum

FreTSe, A URR SR Ry

3) Limestone, gypsum and clay

T URR,

4) Limestone, bauxite, gypsum, clay and chalk
Correct Answer: Bauxite and limestone
FrTEe 3R T TR

Candidate Answer: Bauxite and limestone
FleTge 3R T URR

QID : 111 - Accuracy in the measurement of the volume in cubic meter should be near to .

9 Hiex F 3ga & A H gidmar & U g 91T
Options:

1) 0.001

2) 0.01

3)0.02

4)0.1

Correct Answer: 0.01

Candidate Answer: 0.001

QID : 112 - Deduction for total length of the central line at the corner where two walls meet is

H H BT YW B F GSTS BT ekl wiel af Gan e §, Eai]
Options:
1) half of thickness of wall
dlaR @t AT BT S
2) no deduction
EENIEG
3) thickness of wall
CERE]

4) twice of the thickness of wall

Correct Ansvyer: no deduction
FIE Herd Tt
Candidate Answer: half of thickness of wall

IR P ACTE BT MMM

QID : 113 - Which of the following is estimated by using a bar bending schedule?

IR FH AR T ITAN B 9 & | S 1 SFHH 1 T 32
Options:

1) Brick work

T FH HH FT

2) Concrete work

hopic & BT B

3) Earthwork

THH & B BT

4) Steel work

WG & 1 BT

Correct Answer: Steel work
WA & T B

Candidate Answer: Steel work
ST & HH BT

QID : 114 - Which of the following is measured in square meter?

frafafaa & @ o a1 o e & 17 sirar 82
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Options:
1) Cornice

2) Concrete work

f Eakcat FRESHERS NOW
3) Shuttering
efaT

4) Steel reinforcement bar
A
Correct Answer: Shuttering

Candidate Answer: Shuttering

QID : 115 - Which of the following statements are the CORRECT for estimation of plastering?

1) For opening up to 0.5 square meters, no deduction is made.

2) For opening exceeding 0.5 square meters and up to 3 square meters, deduction is made for one face.
3) For opening up to 3 square meters, deduction is made for both faces.

4) For ends of beams, no deduction is made.

5 # Q B 91 HUT TR P SATAM & T TEY 22

1) 0.5 37 Hiex g & ¥ F oY, B8 Bkl T8l DI TS B

2) 0.5 T MR I 3ifdip 3R 3 T HeR I & &g P Y, T W & g Herdt &1 et 2|
3) 3 T Wex 9% & Bg P (AU, G IRl &b o FHerdt 1 et 71
4) §19 & 3id & T, FIS Herd T8 I TS B

Options:

1) 1and 4

1 3R 4

2)1,2and 4

1,2 3R 4

3)1,3and 4

1,3 3R 4

4)3 and 4

3 3R 4

Correct Answer: 1, 2 and 4
1,2 3R 4
Candidate Answer: [ NOT ANSWERED ]

QID : 116 - Chowkhat or frame of the door is measured in,

AT B A HY o 7T S g
Options:

1) cubic meter

T Hex

2) meter

3) quintal
féca

4) square meter

Correct Answer: cubic meter
T i

Candidate Answer: square meter

QID : 117 - Calculate the preliminary estimate for a building having a total carpet area of 500 square meters. Extra provision as 10% of the carpet area is provided
for walls and verandah. The plinth area rate is Rs. 1,200 per square meter.

500 g7t Hiex FT FA I SAHA AT HaT P TRIID SFTAM BT T I et ifafkad Taem & T T 10% BIei &7 <Rt 3R sRTaT & e ver o mr @
3R YR &% BT & 1,200 T Ufd o HeR B

Options:
1) 60000

2) 540000
3) 600000

4) 660000
Correct Answer: 660000
Candidate Answer: [ NOT ANSWERED ]

QID : 118 - Calculate the volume of earth work for an embankment of length L and width B. The mean depth of the embankment is D and side slope is S : 1.Using
mid-sectional area method.

TaE-SUTTT & faf 1 IuahT v, TETS L 3R ST B & deey & oy S & T8 &1 AR &) T0MT B3| desy Bl 7d TeRTS D § 3R R8s gar 8 S: 11
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Options:
1)
BxDxL

2)
(B+B+sD)xDxL

3)
(B+B+sD)xDxLI2

4) _
(BD+sD*)x L

Correct Answer:
(BD+sD*)x L

Candidate Answer:
(BD+sD¥)x L

QID : 119 - Calculate the quantity of the sand required for 8 cubic meter brick work with cement mortar (1 : 3).

e Melk (1: 3) F Y 8 T4 Hier $¢ & 19 F AU TS 91 &1 AT Bt T0AT B
Options:
1)1.38

2)15
3)1.8

4) 2.4
Correct Answer: 1.8
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the capitalized value of a building having annual rent of Rs. 20,000 and highest rate of interest is 5%.

U SHARA & Usiid Ged &I 701 6% forad arfifes famar 20,000 7 SR =191 &1 I=ad &R 5% 3
Options:
1) 1000

2) 21000
3) 220000

4) 400000
Correct Answer: 400000
Candidate Answer: 1000

QID : 121 - Plumb bob lines at two different places in plane surveying are ___.

TEAA TIEOT B Gl STHT-31THT SHTET IR AIgd Az ___ gl
Options:

1) cut at the center of the earth

HA & F5 § pedt §

2) inclined

g1 g

3) parallel to each other

TH G & JHHAIR

4) perpendicular to each other

T G & aEad

Correct Answer: parallel to each other
TH g & AR

Candidate Answer: parallel to each other
TH gWR & IR

QID : 122 - A curve whose radius varies from infinity to a certain value is called .

T Ie e B sFd A 0 PRT AR F RUAE S8 39 serwan gl
Options:

1) compound curve

RRESEED

2) circular curve

R I

3) reverse curve

[CERGECED

4) transition curve

ThHUT d5h

Correct Answer: transition curve
b HUT deh
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Qandidate Answer: transition curve
HPHUT deh

QID : 123 - What is the representative fraction for a scale of 10 cm = 20 km?

10 9t = 20 {5t & AUHH F faw o=ie frm @1 32
Options:

1)1 cm =2km

199 = 2 fopedt

2) 1 cm = 20,000 m

1 99 = 20,000 =

3)1:2

4) 1: 200,000

Correct Answer: 1 : 200,000

Candidate Answer: 1 cm = 20,000 m

1 9+t = 20,000 T

QID : 124 - The line which is used to collect the details of the objects in an area is called ___.

T & B aRgafl F fAaR0 UHd FRA & AU IUAT B S arel a1 Y HeT o 3

Options:

1) base line

YR @

2) check line

o

3) main line

pitcalec)|

4) tie line

o @l

Correct Answer: tie line
T Xl

Candidate Answer: tie line
o Xl

QID: 125 -
Calculate true bearing of a line, iIf magnetic bearing
of the line is S 60° E and magnetic declination is 5°
eastward.

Uk YT & T FARET I 0T HX, Afe @1 7 Fahr
agfar s 60° E & 3R e FRmEe 5° gdf 3

Options:
1)
NEheE
2)

NG5 E
3)

SO E
4)
SB5E
Correct Answer:
SO E

Candidate Answer:
S65°F

QID : 126 - Calculate the total correction (m) required, if a line measured using 20 m chain is 2380 m. Actual length of the chain is 20.2 m.

P IS GUR (HeR) BT IUAT FR, 3R 20 Hex ok BT IUANT HRd §T U 3T 2380 Tex 7 3R Sioik Bt aRafas das 20.2 Hex 31

Options:
1) 226

2) 23.56
3)23.8

4) 476
Correct Answer: 23.8
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - The least count of a theodolite is ___.

frSIaTge o7 3y gl
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Options:

1) 1 degree

1 f&ht

2) 2 minutes

2 fiFe FRESHERS NOW
3) 2 seconds

2 ¥&s

4) 20 seconds

20 T

Correct Answer: 20 seconds

20 ¥FS

Candidate Answer: 2 seconds
e

QID : 128 - Calculate the corrected staff reading at point A, if the staff reading is taken from an instrument which is set at a distance of 1.5 km from the point A
3.46 m.

fiig A TR UM WTH UGS F} 70T &%, 3R TTH U4 T IR0 F feram Siram 8 ot famg A, 3.46 ex ¥ 1.5 fraiiey &t gt w fuffea 71
Options:

1)3.28

2)33

3)3.43

4)3.48

Correct Answer: 3.3
Candidate Answer: [ NOT ANSWERED ]

QID : 129 - Calculate the intersect angle (degree) for the anallactic telescope.

SATGed gra & iU HIFE B (f&3h) St o HX
Options:
1) 0.467

2)0.573
3) 0.592

4) 0.598
Correct Answer: 0.573
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Which of the following statements are CORRECT for contour map?

1) Parallel contour shows uniform slope.

2) Very closed contour shows steep slope.

3) Very closed contour shows flat area.

4) Two contours at different elevation cut at right angle.

g & A B 91 HY= T & AHRE & e T8 /7

1) THFIR FHI T THH GolH fo@rd 2
2) 9gd d¢ T Wl ga fowarn 71

3) §gd s¢ gHr= GHGS & o 3

4) 3(TAT-3T A TR &) YA JHBIU R Hedt 3
Options:

1) 1,2and 4

1,2 3R 4

2)1land?2

13k 2

3)1,3and 4

1,33k 4

4)2and 4

23R4

Correct Answer: 1 and 2

13k 2

Candidate Answer: 1,2 and 4

1,2 3R 4

QID : 131 - What is the terminal velocity (m/s) for a 4 g particle which is falling in the water with projected area of 5 sq. cm? The coefficient of drag is given as
0.47.

4 919 & HU & forg sifom 3 (Hie/Jdrs) o § W 5 FfHieR & SrmiiAa &= & Wy Ut B AR 5T 82 9 &1 0N 0.47 B
Options:

1) 0.58

2)5.2

3)7.5

4) 10

Correct Answer: 0.58

Candidate Answer: [ NOT ANSWERED ]
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QID : 132 - The coefficient of curvature for well graded soil lies between .

gl e  aiffpa it & fRrw ashe b1 7Uie & = R
Options:

1)1to2

192

2)1t03

193

3)1to5

195

4)5t07

597

Correct Answer: 1 to 3
193

Candidate Answer: 5 to 7
537

QID : 133 - The coefficient of uniformity for well graded sand must be greater than .

3B e W arifed X F e guma &1 quie _ § sifde g anfeul

Options:
1)4

2)5
3)6

4) 10
Correct Answer: 6
Candidate Answer: 6

QID : 134 - Casagrande’s apparatus is used to determine .

IS ISR ____ b1 Feffiva w37 % forg vravt fova s 1
Options:

1) liquid limit

GRGASIES

2) plastic limit

3) shear strength
U UD dlcbd
4) shrinkage limit

Correct Answer: liquid limit
GRGASIE

Candidate Answer: liquid limit
wa o

QID : 135 - On increasing temperature, the viscosity of gas

AUHA Fg7 W, 9 &1 g gare
Options:
1) decreases

2) first increases and then rapidly decrease
Ugh §¢ STt § SR R Ao ¥ wedt ®

3) increases

4). not affected by temperature
TTAM | g et
Correct Answer: increases

Candidate Answer: increases

QID: 136 -

If the 90% volume of iceberg is immersed in the water and only
10% volume is above the water surface. What is the density of the
iceberg, the density of sea water is given as 1025 kg/m?® ?

3R Tgaater &7 90% HAMT il # 59 ST & 3R FHaer 10% AET
el &Y G ¥ IR o fewde 1 ueca W g, TG & U

&I Helca 1025 kg/m® §7
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Options:

1)

900 kg/m?®
2)

922 5 kg/m?
3)

950 kg/m?
4)

1000 kg/m?

FRESHERS NOW

Correct Answer:
9225 I{gfr’n3

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - The head developed by the centrifugal pump is 40 m while operating at the speed of 750 rpm. If the rated capacity is given as 50 cumec, what is the
specific speed of centrifugal pump?

%50 rpm Bt T TR HTH B §U SUHe! T gRT fAsiid s 40 HeR 81 3R HewichT a1 7 &t 50 FgHS & &Y & < et 7, dF sushsll wr ot faflry wf
?

Options:
1) 150

2) 300
3) 333

4) 500
Correct Answer: 333
Candidate Answer: [ NOT ANSWERED ]

QID : 138 - Surface tension for an ideal fluid is .

& 3y d yerd ¥ fiw gag &g 2
Options:

1) depends on temperature

oA R fR #=ar g

2) one

i)

3) infinite

3d

4) zero

A

Correct Answer: zero

A

Candidate Answer: zero

A

QID : 139 - Which of the following is not true about density of the gases?

278 QB W G & Ui & IR F 9 TR 2
Options:

1) Proportional to pressure.

T9d &

2) Inversely proportional to temperature.
T &

3) Inversely proportional to volume.

ST &

4) Do not depend on temperature and pressure.

AT 3R gag R AR T8 e &

Correct Answer: Do not depend on temperature and pressure.
ATTAA 3R gad R PR T xar 8

Candidate Answer: [ NOT ANSWERED ]

QID : 140 - The stable equilibrium is achieved in the floating body when

fRR Tge oxelt 5 e § U g1 § 9 [
Options:
1) center of gravity is below the centerof buoyancy
TSR $T Hg IaAaD Hg
2) metacenter is above the center of gravity

' FITATWYE
3) metacenter is below the center of gravity

' FE R

4) metacentric height is zero

AR S T3 8

Correct Answer: metacenter is above the center of gravity
' he AFW R
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Candidate Answer: metacenter is above the center of gravity
AFRE

QID : 141 - What is the value of friction factor, if the diameter of pipe is 50 cm and roughness height is 0.25 cm?
FRESHERS NOW

YU R B A T 8, Ife TSY BT oI 50 I 3R TR s 0.25 At 82
Options:
1) 0.0003

2) 0.003
3) 0.01002

4) 0.03035
Correct Answer: 0.03035
Candidate Answer: [ NOT ANSWERED ]

QID : 142 - What is the head loss in pipe due to friction over the length of 30 km, if the diameter of pipe is 80 cm and velocity of flow is 30 cm/s? Take friction
factor 0.032.

30 forft @S & ONU F HRU URY H AT B 81 1§, SR UIRY HT A 80 FdHieR 3R Tare ot Tifd 30 Tt /3. 82 U0 HR BT A 0.032 B
Options:

1)40m

4.0 Hrex

2)4.5m

4.5 T

3)5.5m

5.5 Hlex

4)10m

10 Hiex

Correct Answer: 5.5 m
5.5

Candidate Answer: [ NOT ANSWERED ]

QID : 143 - The range of Froud number for the weak jump is

PR FE F U BPHS IR PG ___ 7l
Options:

1)1.0to 1.7

1.091.7

2)1.7t02.5

17925

3)2.5t04.5

258 4.5

4)4.5t09.0

45%9.0

Correct Answer: 1.7 to 2.5
17925

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - What is the velocity (m/s) with which elementary wave can travel upstream, if the velocity of flow is 2 m/s and depth of flow in channel is 1 m?

I yaTg Bt 377 2 W/, § 3R 370 & vaTg B TeRTs 1 Hiex § a3 (+f/2.) 7 gnft e Ty vrufiie de’ uRT & ufddd A e gadl 82
Options:
1) 1.132

2)2
3)3.132

4) 5.132
Correct Answer: 1.132
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - Which one is the best method of reclamation of the alkaline soil?

&g g & GUR & forg wed oresT d¥ieeT & 1 32
Options:

1) Addition of gypsum to soil.

forgt ot foram o

2) Addition of gypsum to soil and leaching.

ford) & R forer iR Femem

3) Leaching.

[REIRE

4) Providing good drainage system.

3T ot TR yorTet UgH &

Correct Answer: Addition of gypsum to soil and leaching.
fordt & ey e iR Femem

Candidate Answer: Leaching.

IBEIGE]
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QID: 146 -

The intensity of the rainfall for successive 1 hours period

of a 6 hours storm are 2, 6, 8, 9, 7 and 3 cm/hr. The runoff is FRESHERS NOW
4 cm/hr. Calculate the ¢—index (cm/hr).

6 8¢ & B & dAaR 1 He & HafT & fow afer S digar
2 6.8 9 7T 3 / ger &) #TaH digar 4 g6/ geT
d—index (¥HT | HeT) FT AOATHI

Options:
1) 25
2)3.5
3)4.6
4)7.67

Correct Answer: 3.5
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - The intermediate sight distance is equal to .

AoaR e g PRI
Options:
1) overtaking sight distance

faegsr =

2) stopping sight distance

FHac =P g

3) twice of stopping sight distance

IHIAC T g B G

4) twice of stopping sight distance

Fprac =P gl &t

Correct Answer: twice of stopping sight distance
IHIAC T g B G

Candidate Answer: twice of stopping sight distance
Jp1ae =y

QID : 148 - Calculate the equivalent radius of the resisting section of 20 cm thick slab, if the ratio of the radius of wheel load distribution to the thickness of the slab
is 0.5.

WS B ArerS SR ufgar YR faRor & Brsar &1 ourd 0.5 7, @ 20 I A1 W & Ry 910 W & RIS B35 31 10H1 R

Options:
1)8

2) 10.16
3) 20

4) 23.66
Correct Answer: 10.16
Candidate Answer: [ NOT ANSWERED ]

QID : 149 - Which of the following is responsible for the corrosion of concrete sewers?

Fofofad & @ o1 @ Swic A1a F HeRo & forg RSrieR g2
Options:

1) Chlorine

FARA

2) Oxygen

SHTerdor

3) Nitrogen

4) §eptic conditions

Correct Answer: Septic conditions

Candidate Answer: Chlorine

QID : 150 - Which of the following is responsible for the depletion of ozone layer in the upper atmosphere?

W agHed & 3fiei wRd &1 & & o e F I B9 orier 82
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Options:
1) Carbon cgioxide
Pl SRAHTFES

2) Chlorofluorocarbons
3) Hydrogen peroxide

4) Oxides of nitrogen

Correct Answer: Chlorofluorocarbons

Candidate Answer: Chlorofluorocarbons

QID : 151 - Live loads, with time can vary in:-

T % 1y it YR e & e g 9 §:-
Options:

1) Magnitude

gRATT

2) Position

3) Neither position nor magnitude
7 € fRufa 3R 7 € ufvmmon
4) Position as well as magnitude

e 3R Trr & Iy iAo

Correct Answer: Position as well as magnitude

Ryfar 3R Tmy € Iy ufvmmon

Candidate Answer: Position as well as magnitude

fRufa aik T € 9y afkmmr

QID : 152 - Impact load results from which type of effects of loads applied?
AN fPT T YR & 59 TSR & TuIal & URUTFRGEY Ga1d 4R I 810 82

Options:
1) Static
s

2) Dynamic

RGN

3) Static and dynamic
Afw IR fasha

4) Neither static nor dynamic

T @ Rt SR 7 & wiasfa

Correct Answer: Dynamic

Candidate Answer: Dynamic

QID : 153 - Which type of drainage system will collect the rainwater?

9 UeR @1 Ia Mt sgaw aut &1 ur TEHid st
Options:

1) Primary

eI

2) Secondary

3) Tertiary

4) Primary and tertiary
ufies SR gelias
Correct Answer: Primary
PIRiEc

Candidate Answer: [ NOT ANSWERED ]

QID : 154 - Moment at a hinge will be:-

Heal IR 3rguf grm:-
Options:

1) Infinity

3d

2) Zero

Rl

3) Depends upon acting forces
P IR G 94 W R FRaT
4) None of these

P el

Correct Answer: Zero
R

Candidate Answer: Zero
i)
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QID : 155 - For the validity of principle of superposition, materials should behave in which manner?

ARV & RIGId BT I8 B oY, TARR &) 75T THR  TIER AT ART?
Options:
1) linear-elastic
-y
2) non-linear-elastic
RIEH-Iamy
3) Non-linear- inelastic
R - vy
4) Linear- inelastic
=AU
Correct Answer: Linear- inelastic
RircEE i ined)
Candidate Answer: linear-elastic
-y

QID : 156 - If 4 reactions are acting on a beam, then the system is:-

R i W 4 vl w5 3§, & P -
Options:

1) Unstable & indeterminate

Syl ok sruffir

2) Stable & indeterminate

R IR sruffid

3) Stable & determinate

R iR ufkfi|

4) Can't say

%E To A

Correct Answer: Can't say

HE Tol Abd

Candidate Answer: Unstable & indeterminate

Syt 3R SuRfta

QID : 157 - Which of the following statements is true?
A. If a truss consists of a non-triangular element, then it will essentially be unstable.

B. In the above cases, instability is the most probable occurrence, but there are a lot of examples which are unstable.

frafifEa & @ o o1 By Td 22
A. 3R T4 # R-BH100g 9 €, O I8 Magd ¥ ¥ SR g
B. IUad fRufea ¥, SRR Ja& THIfad e B, At 98 ¥ 3Me T Iaex0l € off Srurft €
Options:
1) Only A
Fad A
2) Only B
B
3) Both Aand B
A 3R B gF
4) None of these
T A B Tl
Correct Answer: Only B
Faa B
Candidate Answer: Both A and B
A 3R B gH

QID : 158 - Which of the following statements is true?
A. A roller is provided at end of a bridge truss to allow thermal expansion.
B. A roller provides freedom of deformation in horizontal plane in case of thermal expansion.

fafafad § @ &F a1 By 98 22

A. el R fad a7 & o, 59 o0 & ofd & AeR UeH faar wmar g1
B. ST R % wma & fast aat # AeR FApfa 3 Tad=1a1 ueH a3
Options:

1) Only A

Had A

2) Only B

%ad B

3) Both Aand B

A 3R B F

4) None of these

T 9 Pl TG

Correct Answer: Both A and B

A 3R B gH

Candidate Answer: Only B

Had B

QID : 159 - Trusses and frames are different as:-

9 3R P 5 R I i 819 §:-
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Options:

1) Trusses can bend, frames can't

TH 43 ¥ &, B el

2) Both can bend

Sl g8 & §

3) None of them can bend

T A FIE +ff 78 gs T

4) Trusses can't but frame can

79 T8 A B0 43 T §

Correct Answer: Trusses can't but frame can
= 76T Afes A g8 Tobd §

Candidate Answer: Trusses can't but frame can

T S AP PH IS I §

QID : 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.
If B=5,R = 4 and J = 4, then the truss is:-

foar ma & 5 1 St Y e 81 B iR R srgual SR ufafthare &t G Bl SR B=5R=43R I =47, AT 8-
Options:
1) Statically determinate
Qfdsw =g I Rk
2) Statically indeterminate
FUY
3) Stable
R

4) Unstable
SRR

Correct Answer: Statically indeterminate

Qfde =0 F Ul

Candidate Answer: Unstable

QID : 161 - What is the ideal water-cement ratio to be used while hand mixing?

F1Y ERT A Fa T IuANT T o aren sl Sia-wie Srgurd 1 82
Options:
1) 0.4-0.5

2) 0.5-0.6
3) 0.6-1

4) 1.6-2
Correct Answer: 0.5-0.6
Candidate Answer: 0.4-0.5

QID : 162 - As water cement ratio increases, also increases.

I e ourd # 3fe 81 R, Haft g et @
Options:

1) Compressive strength

gt g

2) Tensile strength

T e

3) Bleeding

XAdul

4) Workability

Correct Answer: Workability

Candidate Answer: Workability

QID : 163 - Ready mix plant and central mix plant differ in:
TR forsyor T SR el wTA fyeor forad fira B €

Options:
1) Transportation

2) Setting time
HEEaR:E
3) Properties

qu

4) Water addition

U ST

Correct Answer: Water addition

EIEINSIGEI]

Candidate Answer: Setting time
HEEaR
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QID : 164 - Compacting of concrete is done to:
Hepic B TUAT [ 7T Bt T &

Options:

1) Place concrete on flat surface
TUIA Gdg W dbebie S & oy

2) Remove air bubbles

&1 & gagel

3) Place concrete on sloping surface
T aTell g IR FHebic ST & g
4) Introduce air bubbles

BT ¥ g AT HA & o
Correct Answer: Remove air bubbles
BT % gorgd FdTer & fig
Candidate Answer: Remove air bubbles
EEIED

QID : 165 - Which of the following statements is true?
A. A gap of 0.3m is to be maintained between cement bag and wall, while storing cement.
B. A gap 100 cm is to be maintained between cement bag and wall, while storing cement.

e & 9 o W $F 99 22
A. THE BT YUSR T T8, P 3 911 3R far & §i9 .3 Hiex ot g8 s vt Tl
B. HHe &1 YUSR &R THY, Wi 31 IR ok dlar & o9 100 It Bt g &t wrm @ Tt
Options:
1) Only A
A
2) Only B
%ad B
3) Both Aand B
A 3R B gF
4) None of these
T 9 Pl TG
Correct Answer: Only A
Fad A

Candidate Answer: [ NOT ANSWERED ]

QID : 166 - Which of the following statements is true?
A. Impermeability is a property of fresh concrete.

B. Impermeability is a not property of fresh concrete.
C. Impermeability is nothing to with concrete at all.

e & 9 o W FF 99 32

A. SURITRIT AT Sepie BT 0 B

B. SURITEIT Al Seie T 07 -Tel gl
C. $opic & 1Y URTHIAT B H1g off Taiel g1 B
Options:

1) Only A

Had A

2) Only B

%aa B

3)Only C

%I C

4) None of these

T 9 Pl TG

Correct Answer: Only A

Had A
Candidate Answer: [ NOT ANSWERED ]

QID : 167 - M15 concrete is used for:

M15 Sepic BT ST fbg Ry e wirar &:
Options:

1) Dams

iy

2)_ Foundation

3)R.C.C

SR

4) Mass concreting works

S Hoplc BT b T

Correct Answer: Foundation

Candidate Answer: R.C.C
R4

QID : 168 - Tensile strength of concrete is found out using:

fafefad # ¥ fbgeT SUAN o3 Sl Bl a1+ T UT fohar o1 g &
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Options:
1)CTM

2) Gradual tensile test

B a1 Tier
3) Split tensile test
fquIfora o= wteon
4) Radial tensile test
GRER NG

Correct Answer: Split tensile test

[ERIECIGEERREL)

Candidate Answer: Split tensile test

fquifora o= wieror

QID : 169 - A slump of 50-100mm can be used for:

9 % 3 fpud fw 50-100 M 1 SrauTd IUTT T ST W B
Options:

1) Mass concreting

IS HebITT BRI

2) Strip footing

fa

3) Trench il
RELR S
4) Beams

Correct Answer: Beams

Candidate Answer: Beams

QID : 170 - Before plastering, the surface has to be:
TR F3 ¥ U5, g Bl B IR

Options:
1) Rough

2) Smooth
3) Cemented

4) Watered
SAged

Correct Answer: Rough

Candidate Answer: Watered

ieigad

QID : 171 - Wood surface requires coats of plastering.

AHS! Pl T DI WREX B DI B ATTZGHT 8l B
Options:

1)2

2)3

3)1

4) None of these

T A P T

Correct Answer: 1

Candidate Answer: 2

QID : 172 - For the construction of the retaining structures, the type of concrete mix to be used is

A. 1:3:6
B.1:2:4
C. 1:1.5:3
D. 1:1:2

3Reg TS &b A0 & e, ITaT fbT i aret Sepie fHigor &1 UoR §

A. 1:3:6
B.1:2:4
C. 1:1.5:3
D. 1:1:2
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Options:
1) Only A
Fad A
2) Only B
B FRESHERS NOW
3) Only C
Fad C
4) Only D
D
Correct Answer: Only C
Fad C
Candidate Answer: Only B
Faa B

QID : 173 - For preparing ordinary concrete, what is the quantity of water used?

YT Sepie M oG, Tt Bt fba=it AT 1 IuAnT faan wirar 82
Options:

1) 5% by weight of aggregates plus 20% of weight of cement

U & To &1 5% 3R WHc & IoH BT 20%

2) 10% by weight of aggregates plus 10% of weight of cement

U1 & ol BT 10% 3R HIHe & aoi BT 10%

3) 5% by weight of aggregates plus 30% of weight of cement

U & ToT BT 5% 3R TiHe B Io BT 30%

4) 30% by weight of aggregates plus 10% of weight of cement

G & IoT &1 30% R HiHe & I BT 10%

Correct Answer: 5% by weight of aggregates plus 30% of weight of cement
Ul & o BT 5% 3R WIHc & I BT 30%

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - If the various concrete ingredients i.e. cement, sand, aggregates are in the ratio of 1:3:6, the grade of concrete is

Tfe deple B Al ImiEl 98 i dide, 1, U 1:3:6 & U & 8, @ depic o1 IS §
Options:

1) M100

2) M150

3) M200

4) M300

Correct Answer: M100

Candidate Answer: M100

QID : 175 - For which of the following is an ideal warehouse is provided?

frofafea & 9 frad fRm smexf 1eR 778 Uar fosar S 82
Options:
1) water proof masonry walls
o Aeh ferrE & Frf areft A
2) water proof roof
S e B
3) few windows which remain generally closed
P fosfear o ame: ¢ e §
4) All of these
T g ;b
Correct Answer: All of these
' g @it

Candidate Answer: [ NOT ANSWERED ]

QID : 176 - If the internal dimensions of a ware house are 15 m x 5.6 m and the maximum height of piles is 2.70 m, then what is the maximum number of bags to
be stored in two piles?

3R HER T8 & 3MidRkep M 15 Hi x 5.6 Hl & 3R e 1 3ifiban H=rg 2.70 W 7, 4 @ e A aifirepan fpait aikal Gueld &1 o Tebelt 82
Options:
1) 1500
2) 2000
3) 2200
4) 3000

Correct Answer: 3000
Candidate Answer: [ NOT ANSWERED ]
QID : 177 - Which of the following statements is true?

faffad # @ & 91 sy 9e 22
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Options:
1) The weight of ingredients of concrete mix, is taken in kilograms
Wepie & fAyor & o o I archt It %1 9o feam # g g
2) Water and aggregates are measured in liters
Yol &1 cllex & [71 S §

3) The finished concrete is measured in cubic meters
R depie Bl T Hex & |1 ol §
4) All of these

F g it
Correct Answer: All of these
T I ;b
Candidate Answer: The finished concrete is measured in cubic meters

TR Fepie B T Hiex & {97 A1

QID : 178 - For concreting tunnel linings, transportation of concrete is done by which of the following?

FHepic B W1 B IRA P oY, Hepic BT uRagd Fw & ¥ frad gri fvar smar 82
Options:

1) pans

agdr

2) wheel borrows

3) containers

4) pumps

uq

Correct Answer: pumps
g

(;andidate Answer: pumps
ug

QID:179 - is used to construct very thin, hard and strong surface

BT STANT g 4P Taeh, 319 3R Teied Tdg o1 FaAfor o & forw fopa sirar @
Options:
1) Reinfqrcgd Cement Concrete

e e FHwic
2) Post-Stressed Concrete
URe-KTE dbic
3) Ferro-Cement

4) None of these
T I B
Correct Answer: Ferro-Cement

Candidate Answer: Post-Stressed Concrete

URE-TE Hobic

QID : 180 - How many methods of ferro cementing are there?

X AT ot fra fafrat 82
Options:
1)3

2)2
3)4

4)6
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 181 - The effective width of a column strip of a flat slab that is taken into consideration?

JHAA HeD B TWH TS BT THIE TeTs o8 TR A 3 S 82
Options:

1) one-fourth the width of the panel

U9 B NS BT Th-DUTS

2) half the width of the panel

7d P ASTS BT 3T

3) radius of the column

WY &t B

4) diameter of the column

Y B I

Correct Answer: half the width of the panel

U9 B ST BT 3T

Candidate Answer: one-fourth the width of the panel

7e B NSTS BT TH-ANUTS
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QID: 182 -
If W is the uniformly distributed load on a circular
slab of radius R fixed at its ends, the maximum

positive radial moment at its center is

IR BT RF FR Fors fordes fhar B &

3T W UHAAT &7 ¥ ol aw wi, ot sa5
g # ftepas e smeet 7

3WR?2

1] 162

]ZWR

T
WR
3] 16

Options:

1) [1] Only

Fad [1]

2) [2] Only

%ad [2]

3) [3] Only

Fad [3]

4) Zero

R

Correct Answer: [3] Only
Fad [3]

Candidate Answer: [1] Only
Fad [1]

QID : 183 - For initial estimate for a beam design, the width is assumed

19 3 feoeT F o uRfire S/Am & fog, et &) A o @

Options:

1) 1/15% of the span
qIc &l 1/15

2) 1/20t of the span
TIc &l 1/20

3) 1/25™ of the span
TIc &l 1/25

4) 1/30t of the span
qrc &1 1/30

Correct Answer: 1/30™ of the span
qic &1 1/30

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - The thickness of the topping of a ribbed slab, varies between

YRIER Weord & WY &) Hiers, 35 o it 8
Options:

1)3cmto5cm

39 & 5

2)5cmto 8 cm

591 9 8 Ift

3)8cmto 10 cm

8 Tt ¥ 10 I+t

4) 12 cm to 15 cm

12 9 9 15 I

Correct Answer: 5 cm to 8 cm

59 & 8 It

Candidate Answer: 8 cm to 10 cm

8 3t ¥ 10 qet

QID : 185 - For a ribbed slab
YRIGR B & g

Options:

1) clear spacing between ribs shall not be greater than 4.5 cm

yIRET & o9 1 faxls Rad ®IF 4.5 9 ¥ 31t 7 g1 e

2) width of the rib shall not be less than 7.5 cm

Ut B et 7.5 At § 5w T g =Ry

3) overall depth of the slab shall not exceed four times the breadth of the rib
TA% B G TTETS YR Bt DS B IR T I e 18t g =nfey

4) All option are correct
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Correct Answer: All option are correct

Tt ey ot §

Candidate Answer: All option are correct

Tt foreT Tt §

QID : 186 - Which of the following statements is true?

Fofofad & @ o1 91 96 72

Options:

1) On an absolutely rigid foundation base the pressure will be more at the edges of the foundation
quf &0 @ Tg fia F SMyR R g§ Hig F TRl W 31w

2) On an absolutely rigid foundation base the pressure will be uniform

U1 =9 ¥ £g Hia & 3MYR W & THIHH g

3) On an absolutely rigid foundation base the pressure will not be uniform

quf &0 Tg id & YR W & THAAH el g

4) On an absolutely rigid foundation base the pressure will be zero at the center of the foundation
ol ®9 9§ Tg Fg & MR R i F Fx H 319 I g

Correct Answer: On an absolutely rigid foundation base the pressure will not be uniform

Ul %0 ¥ £g Hia & YR W gE THTHH et

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - According to I.S.: 456, 1978 the thickness of reinforced concrete footing on piles at its edges is kept less than

1.S.: 456, 1978 & IR WY F MYR & fFRI W Fee boblc Bt O S99 H T oIt 8
Options:

1) 20 cm

20 It

2) 30 cm

30 Ift

3)40 cm

40 9t

4) 50 cm

50 It

Correct Answer: 30 cm

30 9t

Candidate Answer: 50 cm

50 It

QID : 188 - If the diameter of longitudinal bars of a square column is 16 mm, the diameter of lateral ties should not be less than

IR THR TH F HGE Bl BT o 16 Hidt B, ot uref S HT A ST HH AL g1 ARY
Options:

1) 4 mm

4 Tt

2) 5mm

5 ot

3) 6 mm

6 foet

4) 8 mm

8 it

Correct Answer: 5 mm

5 it

Candidate Answer: 4 mm
4 foft

QID : 189 - Maximum strain theory for the failure of a material at the elastic limit is known as

T @ R gl 3 favaar & o sifiwan el Rigia A ag M Ferema g
Options:

1) Guest's or Trecas’ theory

e a1 ¢ Ragia

2) St.Venant's theory

T id &1 Rrgia

3) Rankine’s theory

Al & Rigid

4) Halg s theory

B &1 Rigia

Correct Answer: St.Venant's theory
¥e oHid 31 Rigia

Candidate Answer: St.Venant's theory

e aAid o1 Rrgia
QID : 190 - Gradually applied static loads do not change with time their
oR-R & Y b T R UR GG S A1 U - e Seed &
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Options:
1) magnitude
qieHTOT

2) direction

3) point of application
1 foig

4) All options are correct

it fawey afg §

Correct Answer: All options are correct

ft ey wfe §

Candidate Answer: magnitude

QID : 191 - The thickness of slabs and beams must be measured to the nearest:-

TS 3R & 3T A B & fAmeaq § /O ST AR |
Options:

1) 0.001 m

0.001 d°

2) 0.005 m

0.005 H°

3)0.01m

0.01 T

4)0.05m

0.05 Ht

Correct Answer: 0.005 m
0.005 T

Candidate Answer: 0.001 m
0.001 T

QID : 192 - A composite beam is composed of two equal strips one of brass and other of steel. If the temperature is raised

T G 9 < sRreR afgal @ ot @ Rl Q T Bi @1 € 3R gud 33rd Bl 81 SR auHH & 9f Bl ol 8, o

Options:
1) steel experiences tensile force
T a9 9 BT SgHT BT
2) brass experiences compressive force
DG TS I BT STHT BN
3) composite beam gets subjected to a couple
it i g fear St §
4) All of these
=T 9 I+t
Correct Answer: All of these
P

Candidate Answer: steel experiences tensile force
ESGKSERCHICARE GUE] Ea

QID : 193 - A linear force-deformation relation is obtained in materials

ad ga-fapfa ey 37wkt & ured faan S g
Options:
1) having elastic stress- strain property
T UAad- 30Ul 07 81d &
2) having plastic stress- strain property
Y- o=y 707 §id §
3) which are rigid elast ic materials
o €8 o el €1 §
4) None of these
BEEET R

Correct Answer: None of these

Candidate Answer: having glastic stress- strain property

T UTSeT- IR T B §

QID : 194 - In a structure, why are the cables and wires are generally used?

T B, AR TR Ha 3R IRY BT STANT 41 fpar Sirr 82
Options:
1) To resist shear stress
O] Gfaad o1 SaRIAd B & forg
2) As compression member
qufte sfaud & ®q |
3) As flexural member
ST 3/qTd & =0 §
4) None of these
KEI RG]

Correct Answer: None of these

EREREI R
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Candidate Answer: As flexural member

AT 399d & =T o

QID : 195 - The ability of a material to absorb energy till the elastic limit is known as

T G d Ut gRT ot AN BT &al oY 59 =9 § +ft S 91 §
Options:

1) Ductility

agdn

2) Malleability

SHTeTage-ar

3) Elasticity

PRIESGE

4) None of these

T A BI Tol

Correct Answer: None of these
T A PIS T

Candidate Answer: Malleability
S{TTAd

QID : 196 - If a material has identical properties in all directions, It is said to be

Ife verd % i U1 99 €, | 38 PEl ST d
Options:
1) homogeneous

2) elastic
TR
3) isotropic

4) None of these
T A P Tl

Correct Answer: isotropic

Candidate Answer: isotropic

QID : 197 - If all the dimensions of a prismatic bar are double, then the maximum stress produced in it under its weight will

R froriia B & uft o R €, @ 3R oo & ded Sd BF aTen Sifiwan fded
Options:
1) decrease

%Y g S

2) increase to two times

&1 T 9 STem

3) increase to three times
GERSIECTI

4) None of these

3T A BIE el

Correct Answer: None of these

T A I T

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - The ratio of the length of the column to the minimum radius of gyration of the cross sectional area of the column is known as

T BT TS 3R TH F I IRg &d & quiF &1 gaw Bion &1 srurd & 39 9 & o 51 o1 §
Options:
1)psllgnndserness ratio

2) puckling ratio

SUEECRISHEIN]
3) crippling ratio

SR 3IUTd

4) compressive ratio

3JUrd
Correct Answer: slenderness ratio
aftorar sruTa
Candidate Answer: slenderness ratio

QID : 199 - In a built-up section carrying tensile force, the flanges of two channels are turned outward

T g0 g (A iU, 8 39a & FIRT 1 916R BT SR gHMET 9Kl §
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Options:
1) to simplify the transverse connections
IIR FHIRMA Bl TP B & forg
2) to minimize lacing
FHA B B ﬁ*IQ FRESHERS NOW
3) to have greater lateral rigidity
3ife uref Tgar & fg
4) All option are correct
it fawey It §

Correct Answer: to have greater lateral rigidity
i urf Tgan & faw
Candidate Answer: [ NOT ANSWERED ]

QID : 200 - A tension member, if subjected to possible reversal of stress due to wind, the slenderness ratio of the member should not exceed

TG 3fagd, AR &4l $ HRUT T S GHIIT SGebHU &b AT 8, A 3agd HT fiorm 3urd ST 3 et g ey
Options:
1) 180

2) 200
3) 250

4) 350
Correct Answer: 350
Candidate Answer: 350
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